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i If the pressure of the system is increased, then the equilibrium will shift in
such a direction so as to produce fewer particles and thus reduced the pressure. In
this case, the equilibrium position will SHIFT to the RIGHT which has less gas
particles. The partial pressure {concentration) of the SO; will increase, and the
partial pressures of the SO; and O; will decrease.

ii. If the temperature of the system is increased, initially the kinetic energy of
both the products and reactants will increase as will the forward and reverse
reactions. According to LCP the reaction will shift in such a way to partially offset the
rise in temperature. In this case, the reaction is exothermic in the forward direction,
so the position of equilibrium will SHIFT to the LEFT to counteract the fmposed
change. The partial pressure of the SO; will decrease, and the partial pressures
{concentrations) of the SO, and O, will increase.

jit. If the volume of the system is increased, then the pressures of all gases
present will drop. According to LCP the equilibrium will shift in such a way so as to
produce more particles and increase the pressure. There are more particles on the
left hand side so the position of equilibrium will SHIET to the LEET. The partial
pressure {concentration) of the SOs will decrease, and the partial pressures of the
S0; and O, will increase.

iv. Adding a catalyst will have no effect whatsoever on the position of
equilibrium or the concentration of all the substances.

i Mo change
ii. K decreases ¥ each
iii. No change
iv. Mo change

i Decrease pressure
ii. Decrease temperature
jii. Catalyst

DECREASE YIELD |
INCREASE YIELD ]
NO EFFECT ON YIELD leach

ii. Increase temperature INCREASE RATE OF ATTAINMENT
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i. Increase pressure > INCREASE RATE OF ATTAINMENT
>

iil. Removing Catalyst > DECREASE RATE OF ATTAINMENT
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